C:# Détermination de lavaleur de lavariable (+, -, x, +) Nom:

Trouvez lavaleur dex. Réponses
1) 58-3x =46 2) Ix+6=12
1
2
3
3) 108+ -5x =73 4) 178+ -9x =88 4.
5.
6.
7.
5 119+ -11x =42 6) -4x +55=43
8.
0.
10.
7) 4x+61=85 8) 84+ -6x=24
11.
12.
9) 159-12x =51 10) 3x+78=90
11) 73 +5x =88 12) 142-8x =178

4 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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Ch Détermination de lavaleur de lavariable (+, -, x, +) Nom: Clé

Trouvez lavaleur dex. Réponses
1) 58-3x =46 2) Ix+6=12 4
X=4 X=6 t
2. 6
3 V4
3) 108 + -5x = 73 4) 178+ -9x = 88 4 10
X=7 x =10
5 7
6 3
7 6
5 119+ -11x =42 6) -4x +55=43
X=7 X=3 8. 10
9 9
10 4
7) 4x+61=85 8) 84+ -6x=24 3
X=6 x =10 H
12 8
9) 159-12x =51 10) 3x+78=90
X=9 X =4
11) 73+ 5x =88 12) 142-8x =78
X=3 X=28

4 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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Détermination de lavaleur de lavariable (+, -, X,

Nom:

)

Trouvez lavaleur dex.

Réponses

9 6 10 6 4
3 7 10 4 7 1.
1) 58-3x=46 2) 1x+6=12 2
3.
4.
5.
3) 108 +-5x =73 4) 178 +-9x = 88
6.
7.
8.
9.
5 119+-11x =42 6) -4x +55=43
10.
7) 4x+61=85 8 84+-6x=24
9 159-12x =51 10) 3x+78=90
M odifié 1-10 90|80 70|60 |50]40]30]20[10] O |
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